\ i | | - |
or axis. A circle 1s always

"Ellipses are two dimensional figufe. It has two focht and a major axis and a min

an ellips® with equal major and minor axes." ‘

In the text given above, M is the number of times, a letter h

and N is number of words with four or more letters that have

product of M and N? , ; i circle i
d a major axis and a minor axis. A

"Ellipses are two dimensional figure. It has two focii an
an ellipse with equal major and minor axes." 3 & gem ¥ (79 dipper H p)

w&qwéW'Mmmmﬁ@émmm@aﬁmﬂ“g afrr N %1 3T F 37
AR N ¥ W IeR afte o) am g @ won 8, A 2FE H Tmaﬂ(g’) 16 o

12
(A) 6 NE © i
34 persons standing.
Between Mahesh and Suresh, there are P n¢ position gf

A total of 83 persons are standing in a queue. 1at ) : tertni
Which of the?se could be positign oquaheSh so that it is possible to uniquely de
Suresh?

A : 12" from the front

B : 415 from behind

C : 59" from behind"
(A) Only A
T T § P
i g @ Rafy = fifte w9 @

A am @ 124t

B: 9% & 41

s (B) B &l C 3 Cr~ A et C 3 (D) %a« B

(A) Fad A

"A cube of side length 6 cm is painted red on all its sides. This cube is cut into smaller cubes of side
length 2 cm. On each of the smaller cubes, the unpainted sides are painted green. _Each of the small_er
cubes is now further cut into cubes of side length 1 cm. How many small cubes of side length 1 cm will
have exactly 3 of its face coloured green?"
6ﬁwﬂgmarﬁqmaa$mﬁmﬁaﬁmﬁﬁﬁnw%lwmaﬁ2%@@@%—@%%?*(3121
ST 3 ) 9@S BIZ 89 9 O 7 M0 YlE Gea @ 8L TT § 0N A0 ¥ 9dE Bl g9 B A9 AF | F9 g9
T wE F wrer oA 21 1 & gon 9 fhad B o % 3 wed arad ¥ g T & 7

(A) 48 (B) 64 (C) 56 (D) 36

Below is given a pair of questions, which are required to be answered, and a triad of statements. Which
group of statements is sufficient to answer both the questions? '
Question 1 : Who is sitting opposite to Q?
Question 2 : Who is sitting to the right of Q?
Statement 1 : P and U are sitting on left and right sides of T, respectively
Statement 2 : P, Q, R, S, T and U are sitting around a round table with six chairs
Statement 3 : Q is NOT sitting on the immediate left side of R
(A) Only statements 1 and 2 '
(B) Only statements 2 and 3
5([3; 8” three statements together
uestions cannot be answered even with
2 oA 7y all statements _ )
%mﬁﬁgﬁ_igﬁ,m?hmsw%aﬁ?ﬁﬂﬁﬁ@ﬁ%ﬂé%lﬁﬁnaﬁmm%ﬁ
WA : Q% ama & 31 &7
W2 :Q% g a9 da1 §7
FH ;P oot U mmar: T & wry

f

(like p in dipper),

cutivel 3
as occurred conse d ext. What is the

been repeated in the t
S always

C (C) Both A and C_ (D) Only B
03 ey Dy ot s v 34 e w #1 T & e o R 2

Preffra @on @Wd 87

0R22-3__C ]

ST A sire 43 ¥
am"Z:P, , R, S, . . )
mw3:o,%%§mT$&%§§%ﬁwmﬂﬁﬁwai‘IT%%%l
(A)  Faw o= | aix 2
(B) , %aw we 2 ot 3
(OY I Bu7 ww @y
H\ﬁaaﬁ%matﬁn&ﬂwmqﬁhm R
wEar ¥
Fage-2 [ P.T.O.
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5.

”"gm‘ﬂg 5006‘5
] '1” , ”'? “4(,” i‘v' ("'l I;]ﬂ,ﬂfc P
hich of the ¢ owing is NOT a feature of commun® ’““ m!""w i is -
5 Cmmnumu:tmn is a two- WY proces ) Com ”,,;c"“‘ !
(C) Comnulnu..llmn is a stagnant nm:::: (( )) C ""”l gﬁﬂﬂa '
ﬁ-ﬁ ﬁﬂﬁ“a“;ﬂ?‘f;ﬁmmi? W‘ﬂ&(ﬂ:‘mﬂfﬁm%'
gﬁw‘ﬂ Itql'i v |
A) B) 1
() qer e v ¥ 1 ‘ ﬁ'ﬂﬂ‘“
(o4 (D)
Fill in the blanks with correct Preposition from the choic®
6 . Harsha was st anding ____ Swapna.
Madhu plays Tennis ____ Chess,
,”)qhmxthtudku the two of you.
i) He divided the property _ his four sons- )
() besides (b) between " (l”)( b). (W)) ((ﬁ)
;) among . .(d) beside n (“)( (). iv
(A(; ). (b)) (V) m/ (')Eb; (i) (7
(C) (1)- (C) (“) (b) ('“)( ), (iv)-(a)
. Whi . of the following refers to the study of eye conl O lesi os
proxemics D) Kinesics
©) MO o o i o
P A 8 foreat ¥59 ‘ ' stagRra
e WB)
(A) D e
© R (D)
following parts of speech:
g Match lTset 10 owing List IT
@) Verb
(a; g::fflcc (i) Adverb
o Dev'elop o _(dii) Adjective
d) Greatly -~ (iv) N iven belo o (d)-(11)
Choose the correct ansWer from the options & (B) (a) (i), (b)- -(iv), (€) iii), (!
a)Gii), (D)D) (o)), (@-(V) a(iv), (0D (€ ). (-()
(A) (a)-(ii). (i @) (@t
(a)-(ii). (b (iv), (©)-(0): 1t agrees with the subject in the following sentences
b that agr
9 Fillin the blanks Wi e CO'TF;:;: ecli- bout the cultural programme-
(i) Each stulgent ___r_—--— any interest in this project.
(ii) Neither RaV! no. ._.d..———- by were
(a) was 1\ have
(© has @ b gy (ipb) (D)
A) (@), (i) -(d) (i)-(b), (ii)-(d)
© ()a) @iy -(c) i nons 8 group of scople i
(D) Discussion

10 A generally accepted opinion (C—Consensus
otlatlo
(B) N "o foar g &

(A) Persuasion g
m%m%ﬂww"% W,mf © W (D) wfaet
T ferred t0 85 Interpersonal skills EXCEPT

11 Al the skills mentioned below & (B) Leadership skills
(D) .Hard skills

(A) v Soft skills
(© Communication Sk’l Hg & B ¥ fwfan frar & fReara &1 -

P

A S o)

©)  iywr s " e®3 i
age -
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12 Mirtunjay is planning to buy a test series for the CAT exam. Following are the criteria of selection for

any online portal fixed by him:
(a) Must contain 25 Full-length mock tests.
(b) Must contain last 8 years previous year papers.
(c) Must have more than 10,000 practice questions on the portal.
(d) 1f any portal satisfies all the above criteria except (a) but has more than 20 mock tests and more
than 5 previous year papers then he will keep that shortlisted. : i
(¢) If any portal satisfies all the above criteria except (c) but has more than 8000 practice questions
and recorded class videos, then he will ask his mentor. :
“Let’s crack CAT” is providing online test series for CAT. It is providing 18 mock tests and 3 previous
years' Paper. It is also providing 12000 practice questions. "
Which of the following is correct for the selection of the online portal given above?
(A) It will be selected (B) It will not be selected .
(C) 1t will be shortlisted (D) He will ask his mentor for selt‘:‘%tlog.

CATW&E"*RNW%EMWﬁmwmhwasmﬁufﬂam st A
|

X
‘Iflm_t.ﬂmkamsoooﬁe{ﬁﬁmwﬁ

o o i g ¥, T @ T T
: " i o & T8 ¥ 7% 18 e 2 it Rred 7wt ¥ 5 90
varzg % CAT CATtmqmﬁtemﬁ ¥ 7% 18 wiE 3w -

&t o ¥ |y f m‘lzooomm‘ﬁm w ki

wmmwmmtmﬁmwﬁfﬂm-mmt?
(A) T g S = ;ﬁéﬂ.‘:mm
w® (D), = ¥ = % fg g

13  Rony is a model and looking for & persomll gym trainer. ‘Following are the selection criteria for a
candidate to get selected for the role of & personnl Gym trainer for Rony:

(n) Must have completed Bachelors. '
(b) Must have work experience of at least 3 years as a Trainer.

(c) Ifa candidate full fills criteria (a) and NOT (b) but have done a diploma course in personal training

then he will keep that person shortlisted. .
(d) If a candidate full fills criteria (b) and NOT (a) but has done a degree course in nutrition and

dictetics then he will ask his manager.
Mikal has done a diploma course in personal training and he has 2 years™ experience as a gym trainer
and he is a graduate from a premier institute.
Which of the following option below is correct for the selection of Mikal?"
(A)  He will be selected (B) He will not be selected
(C)  He will keep that person shortlisted (D)  He will ask his manager.
'ﬁ'—ﬁww‘:‘msehqmﬁﬂhﬁmiwaﬁmmﬂhﬁtmqﬁmmiﬂh‘iﬁm%@“m
& gua % forg g & wrrds Pl ¥
(n) @ras tgr fs ey afdg)
(b) wRere % wq ¥ &9-¥-ww 3w & wd e wrfdel
(c);ﬁéﬁiwqmé;&:ﬁmmt (h)m\{naﬂmt.ﬁﬁmmummﬂm
§ fwar 8, ot us IW W e wom)
(d) uﬁluﬁtauﬁnrr(m(b)ﬁgmtm(u)ﬁwwﬂmt,ﬁmmahm&wﬂ&rm
ceaul

ard far &, @ a8 o Ao
ﬁmﬁmmrmﬁmmmgmﬁmwtmazwmmtm&mm
e @ e ¥

Rramr % waw % g Preaffed ¥ ¥ av-ar P wl ¥ ?

() uy oq i @ qifne wT% w@m (D) ax o o & T
.T.O0.
OR22-3 C] Page - 4 [P.T



' Engllw
ition’ shet? l:e vowet
. S o
14 Inacoding scheme, cach letter i after shifting N pOAT has only ome: The
Iphab . ter in a word js written 5 ° efte’ ample: B his sch ill
alphabet, where N is the number of vy word- for €¥ ording to! Whaf wi
so it will be coded as CBU. A fi of vowels present " ' It is coded ace 10 (ime®
| , ] . A five letter word l,()U”': is (4 repe d for
resultant is again coded as per this scl . this proces-" §
be the final coded word Ol“ﬂincd'} scheme, and s0 0 " gan"ﬁ Tt aﬂﬁ . - -
o s &, o N, o o gz @ v B BAT‘*M‘; et T oy
ﬁaﬁ%ﬂmml@ﬁﬁﬁ!mmsml,OUIlimm,g'{ggM art AT o 15
@méwmﬁwmmm%mﬂ gfn 1 10
P gon Sifow IS Fe-q Bm? oTZN/
(A) HOYPX (B) PSAMJ ©) SNJZK (D)
ish alp
15 "Inacoding scheme, a word is coded as product of positions of its letters Eni:: ) d FELL,
for the purpose of calculating product, only unique Jetters sfdered, . uld have |3rgest
L would be considered only once, and code would b€ 360. Whic of these ™
code?" ‘ S IGL
: : 3 s
qwaaﬁnquawﬁ,mwmmmﬁﬁwﬁw :FELLﬁLﬁTW
%lm,mﬁrmasaammma gy @ forat T & '
qmaﬂqmarqrnahrsawmﬁs%oﬁmyﬁﬁmsﬁﬂﬁﬂg g
(A) ACACIA (B) BASS o SHY (o) DADDY
i 16 Ina family of six persons, two are males and remaining ar® females. The members are P Q,_Ro. s, T an.d
, U. There are tWo pairs of father and daughter in the family. S is wife of Q- R and Q aré siblings. P15
‘ wife of T. U is NOT daughter of S. Below are given d few statements. Based on the given information;
\ select which of the statements is/are definitely true.
A : The two male members of family aré Q and T~
B:Sis mother of P.
! c: Tisalsoa sibling of Q.
D:Tis uncle of Q.°
(A) Only A is true——" (B) Only A and B are true
;(;) Onl.yaEA,q: and D;Z trueg i (D) Only A and C are true
afedl qfare & & geY & ¥ 2 afeemd ¥ we@ P, Q, R, ; :
tﬂﬁﬁ%%lS,Qﬁqﬁﬁ%fRaﬁTQaﬁH%lETaﬁq(—.ﬁ% Q.R.'S, T it U &1 SR & R aire o
SR o i U, S % gt T ¥ A
& iwﬂﬁ*mféimﬁfhﬁmﬁqﬁ%ﬁ ) 39 4 i 1o &)
A:qﬂ’aﬂﬂiz‘!gﬁﬂmQaﬂTT?l '
B : S, P& Al 4l
C: T, Q@ T& TeIa{ 9 &
D: T, Q% a3 &l
) A, Bt D O WABﬂTBHﬁg
Ashr C -
OR22-3 C] Page-5 S '
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17 Give '
N statement i .
ent is followed by two assumptions numbered (1) and (II). You have to consider the stateme
nt

to be TR v s _
o t'UE, even if it seem to be at variance with commonly known facts. Decide which of the gi
ptions logically follow/s from the given statement. € given

- Statement :  The largest computer manufacturer has reduced the prices of most of the models of
the desktop by about 15 percent with immediate effect. °

Assumptions : (I) The company may incur huge losses due to the reduction in desktop prices
(I1)  The sales of desktops manufactured by the company may increase signiﬁcant.]
in the near future. Y
(A) Only Assumption (1) is implicit.
(B) Only Assumption (II) is implicit.
(C) Neither Assumption (I) nor Assumption (11) is implicit.
(D) Either Assumption (I) or Assumption (II) is implicit.
fu o HUA H T A (1) st (I1) feq 7T ¥ AR BT B W@ A , .
aﬁauﬁmmma:g:;fasanémﬁﬁmm,mmami:iﬁfmfm
] ;ﬂ;&;@?ﬂ@ﬁmﬁ%ﬁﬁw%mﬂﬁsﬁﬁmﬁmmﬂm 15 wfesra 2
!
areomd (1) g Fwdl § & ¥ FE B A JHEE & gHw E
(I o gra fififa Swweia @ el Pre i & &t 98 gadr &)
(A) Faw g (1) fafed #) " ’
(B) & Hreem (IN) fifea ¥
(€)@ grom (T) ¢ 7 & arow (1) Rk ¥
(D) B (1) o arom (1) 2 P ¥

18 Gi i .
to“t::n Tsltlatement Is t_"c;l!owed by two assumptions numbered (I) and (I). You have to consider the statemen:

RUE, even if it seem to be at variance with commonly known facts. Decide which of the gi
assumptions logically follow/s from the given statement € given

Statement : Before giving full work to the employees, give them work-related training
Assumptions : (I)  Training helps the employees to increase their performance. -
(I1)  Employees do not have any skills prior to training.

(A) Only Assumption (I) is implicit.
(B) Only Assumption (II) is implicit.
(C) Neither Assumption (I) nor Assumption (11 is implicit.
(D) Both Assumption (I) and Assumption (11) are implicit.
&qmmm%mi‘tmﬂﬁﬂ)aﬂ'{(Il)&qqqtlmasﬂﬁvﬁm%. o & g% wmrga: sa awr
ﬁﬁamﬁﬂﬂlmﬂﬁiﬂﬂﬁmﬁﬁgmmaﬁ'ﬁ?‘“ﬁ&q"qm*m“mt'
A el @ T T A Y TR gy gy @ w2
arom (S R T gy g o T I
' (L) o 3 T S % g g Ao

AT e aren (1) ifea &

B) ¥aw areom (1) Fifta ¥
(C) = at argom (1) ol 7 € arem (1) fife &)

(D) sreom (1) ofrT e (11) 9 Fafm ¥

OR22-3_C ] Page -6 [P.T.O.



19

Four friends Sachin
in the same order, Th
floor is Numbered 4.

Rachit, Ry! ]
*Ra) and i, e - ot necessarily
© ground floor jg , "W it ve on separate floors of a d-floor building, but

t
. u : il the topmos
Sachin doeg mber ed |, the first floor is numbered 2, and so on unti

floor on which Pingy lives. Rachj " live or ) ay eyen-numbered floor. Only three friends
L Rachit lives jmpy, ediately above Sachin.Which floor does Raj live on?

(A) 1
B i
( ) 2 d (C) 3r(l (D) 4th

mﬁﬁ'm; Wli.ﬂﬁmémmhiww;‘“"“‘ﬁw&sm—wwﬁéwmt.ﬁﬁmﬁﬁﬁ#ﬁ%ﬁ

@Wﬂ'wmwwqﬁlm%" 'laﬁWZ%.mﬁmwﬁw%maﬁm4%IHﬁ:
I bR i ¥ | <faa, At

aaswrm%'lmﬁmw““ﬁi;?“ i o tea & gk A daw d P wd

A
GV (B) wwy o (D) @
S
20  Calculate the missing term :
300, 296, 287, 271, _? , 2 |
S e L 210
AT 246 (B) 250 ' (C) 244 (D) None of these
T« U B AT g
300, 296, 287, 271, _? , 210
(A) 246 (B) 250 L (© 244 (D) T & @1
21  Five friends Vaishali, Rashmi, Payal, Nidhi, & ind Niyati study in three different classes - VI, VII, and VIIL.
Each of them has a different choice of pen lil <e — P, Q, R, S, and T, but not necessarily in the same order.
Not more than two or less than one study i1 1 any of the classes. Rashmi likes pen S and studies in the
same class as only Vaishali studies, i.e., VI. Niyati likes pen Q and does not study in class VIII. Nidhi
studies in class VIII and does not like pen ¢ :ither P or T. Payal does not like pen T and studies in class
VIII. Which pen does Vaishali like?
-(A) P (B) R (C) PorR (D) T
e weferal demedt, W, argw, fafy oftt fraf i 9 srem—arem @emal — VI, VISR VI # ved #1379 & v
ST BT & 99 96E BT € - P, Q, R, S, ol T, wifte ot Y i gt o o @11 et oft wen F Q) & aifr o
UF § B9 ea 8w €1 e B 3 S w ik ol 9% Swh wew § vedh ¥ Rred Faw Jamed wed sty
VI 4| frafy &t 47 Q woe ¥ ofit 7% amedl ®a :ﬁ?ﬁwﬁ‘ﬁlﬁﬁm'mmffwﬁ%aﬁTWPmTﬁéaﬁ
o &7 qee T8 &1 9gW B 9 T Ee T8 ¥ 3 T a8 VIS oo ¥) oo B SH-R1 99 wEe ¥ 2
(A) P (B) R (©) ParR o7
22 Which of the following cannot be a numb er of the series ?
Fr & & @ & sjen & wem @ @ wwd 17
64, 125, 216, 345, 512,
A 8° (B) 729 ©) 27 (D) 999
OR22-3 C] Page -7
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23 Vipul is shortlisting Unive

. . . rsities for the gop , PO
selection of any university- 1 master’s pro gram. He has decided following criterin for the

a 0 S| i
(b) Must be situated in the USA or UK
(b) Must ide 'S i |
o provide master's in management program
C s y iti ‘ |
o “.u t have a tuition fee of less than USD 30,000 I
any University full fi .
broth ' niversity full fill all the criterin except ( a)hut is situated in Austra!
rother for the selection of University. Q0
0% - 80% scholarship oy

(e) If any University full fill all the criterin excep! ( c)but provide at least 6

tuition fee then he will ask his father for the uiaiversity selection.
nd UK and provides a master's in management program

tuition fee for the master’s program is USD 50,000 ang

in then he will ask hjq

The University of Edinburg is situated in Ireld
to all National and International students. The
provide 75% scholarship to deserving candidates.
Which of the following is true for the selection of Uy riversity by Vipul?

(A) 1t will be selected (B) It will not be selected
(D) "Hé will ask his Brother

(C) He will ask his father )
h@mmsmhm«u’fmﬁmwwi-.t%}nﬁmmtmtmmﬁﬂw

e ag fem b o0

(a) queg @ gF ¥ Rua @ wfg” O

L (b)mﬁmﬁmwmﬂm'/ ™~

(c) Rmeor ges USD 30.oqoaasku‘l=nmﬂrq_| n

wré & faufmm & g % frg @
(e)u&aﬁs‘ﬁwﬁm(c)aﬁmmwﬂmhﬁ{nmt,ﬁfhzqmq?mwm—ﬁ—mm%
—So%mﬁmmtﬁﬂmﬁmﬁﬁ‘&ﬁ&mum%ﬁq@ml g -
- . . o . . o s
qPreRér s e, syrete g & R & ohe W T 3 g e el 3 ke e 3 ST
W%IWW%WEWWUSDSOzQQQ?:Sf&jﬂ"ﬂt{ﬂﬁ‘ﬂﬂrﬁm‘!75%31'5!’!{&1!!‘!:1#6‘!‘61"!
frger vt R & o ¥ P 4 @ d-a s aEDd ? ’
(A) & g smam (13) (& g =i smgm

(©) azam%ﬁranév{&vq/ (D)  =E @ W /g

asions. His average score in these (n+2) innings
basman scored less than 38 runs
west score was X runs.

24 A batsman played (n+2) innings and got out on all occ
was 29 runs and he scored 38 and 15 runs in the last tw o innings. The
in each of the first n innings. In these inning, his average @ sgore was 30 runs and lo
The smallest possible value of x is . o)

N ®
wmﬁ(an)mmmmnmmw SR (W T (n+2) qifral ¥ swa ofea w29
:mmmmamassm:mmmﬁm ar) quw o qfd ¥ wew A dggaa ¥ 38
qﬁmmaﬁtf:mﬁmﬁﬂﬂ, sam afvew =i 30 ™ u(TwWWxﬂmlxmmmm

)
(A) 2 (B) 3 ©) 4

D 1 0

OR22-3
-C] Page - 8 [P.T.O



v i : (5)' n 1
2 The following question, contain four pre ﬁgurcs rke”es as E'Ve
(d)- Select a figure from amongst the a ¢ hlem figures and four ansWe' o the a s€ o %
problem figures. ans wer figures which will cont!” ol
o & e g 3 c)m(dﬂ”'aaﬂé?"
m it aat M@ﬁ—gﬂt' R-,ﬁﬂa’f (a) (l;})‘;q'[ﬂ'

prafafEd

Sat(mqﬁnﬁiiawaqqm\m?ﬁimimﬁwﬁiﬁymﬂ;ﬁﬁﬂ

26

—
(D) 1994

B _
‘9/1996 .
page -9
[P-T_O.
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Rajat 150k one left turn, one right turn and then anot,,
is Raja t's home from his college?
5) South-West (C)  North-West (D) West

m_amﬁhémﬂ“iﬁeﬁrmﬂﬁmt,mtmmww*m@mwt'w“
PRSSARGEE & B SRR

@ w B -y (C)  wwe-afaw (D) e

28

29

30

31

Saurabh walked 10 m West, took a left turn and walkec! 20 m. He then took a right turn and Wa g
10 m. Then he took a left turn and walked 20 m. Then l1e took a ﬁgh.t turn .and walked 10 m. F nall
he took a right turmn and walked 40 m. How far was he 1rom the starting point?

(A) 30m B) 25m & 20 m - (D) 18 m R

/ey loﬁwfsaqeﬁtwm%,mwtmzoﬂ@awtsmﬂww%m lg a:gr 3
€ UF T AR 6 gEar ¥ ol 20 & awrar ¥ R a8 S cgsan ¥ ol 10 f g ¥ aig F 9w o &

AT 40 & awen ¥1 7w omifte fig @ Read qT a1?

(A) 30 (B) 25+ © 20= (D) 18+

Rajat walked 20 m towards East, took left turn and walked 2'0 m. Then he took a right turn z pg walked
vojm Then he took a left turn and walked 20 m. He again took a left turn and walked 40 m. Finally
I-;e tul-ned to his left and walked 20 m. In which direction is; Rajat facing finally?

(A) East (B) South-West (C) South (D) West

T&d @ @ SR 20 HF g 2 arq‘gsm%aﬂtZOtﬂm%uﬁnaswﬁggm%aﬁrzoﬁ,pmg.m
ﬁmqgw%mzoﬁwilﬂ@mﬁﬂﬂaﬁgmi‘aﬂ?mti’raam%laiar‘f, T 5 I T
e & 20 W ¥ i F Tord @ g few R ¥ &7

(A) w (B) =fyer—fyew ©) o (D) vuiem

Gaurav walked 60km West and then took a left turn and walk:d 60kn1. He took alef t tum and walked
20km. He took a left turn and walked 20km. He took a right tur n and walked 20km. F (e again took a lef:
turn and walked 20km. Finally, he turned to his right and walke d 20krn and stopper 1. How far is Gaura
from his initia} position?

(A) 30 km (B) 25 km (C) 20 km (D) 1'3 km
ﬁra60ﬁi=ﬁ¢&awa%mm%aﬂrﬁnmqgsm%aﬁr60ﬁﬁ¢rima1%lﬂ'6?nq'3s_m%m20%rﬁ
aam%laza@gsar%mzomfrﬂﬁmilagaﬁgs_m%aﬁtzloﬁfﬁmtl?rswmmm‘ﬁw
%mzomm%rmﬁ,aﬁmmmm%mzom S ¥ A TH T e &) g orgd writs

(A) 30 (B) 25 fay (€) 20 fh (D) 18 faeh

A worker starts walking from his office. He first walks 40 meters S outh, and t hen 30 meters West. How
far is he from the starting point?

(A) 45 m (B) 55m (C) 48 m ") s50m
%m-mmﬁmg«mtowmmmmaﬁammﬁf T 30 WX wRem ) ot o
¥ % omifies fig @ fea qx 22 ' '

(A) 454 (B) 554 (C) 48+ \(9\/50 LI

OR22-3_C )| Page - 10 [ P.T.O.
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33

ds
Mr. Harshal spends 40% He also speP
20% each of t!l)le resma o of his Savings on the medical expenses for his v\{lfe Mrs Btl;]as?:maming-am"“"t’
half of i Ining amount on his three daughters on their education. From the R 12.000. How
a l? It was spent for a family trip and the amount remaining in his saving account 15 2. —=——
much money did Mr. Harshal had initially? , P
. T AT T F40% O TR sy vy 35 P @ e ¥ 1 3 dr B 20%
G & uds B e W wd FR ¥ | Sy oy @ o W ©@ aRERE aE
Rs. 12,000 T 5% o @@ & ¥ | &, wfw % qrg g@ F feee i oA 7 .
(A) Rs. 50,000 @)"Rs. 1,00,000 (C) Rs.1,50,000 (D) Rs. 2,00,00
PR s % and that
34 The ratio between the prices of two bicycles is 15:26. If the price of first is increased by 10 (/;; ;:;:e e
of second by Rs. 550, the ratio between the prices is 13:22. What were the initial prices
bicycles?
: _ " =
2 wreReel H gl &1 g 15:26 ¥ 1 AR veeh & e A 10%3&&?11_(61‘!35‘?“’3‘ F;S 550 @1 gf=
A, @ qF & d9 B Agu 13:22@W%Wﬂm1ﬂﬂ ar 7
(A) Rs. 7359 and / 3T Rs.3652 Rs. 4290 and / 3T Rs. 7:136
(C) Rs. 4719 and / 3% Rs. 7986 (D) Rs. 5629 and/ 3T Rs. 8539 «
35 Rs. 1200 is divided among X, Y and Z such that Rs. 30 more than 3/5% of X's share, Rs. 10 more than
2/5-th of Y's share and Rs. 20 more than 5/7th of Z's share, all are equal. What is Z's share?
Rs. 1200 &1 x,vmzﬁmmmm%mmtﬁsx%m%3/5%wm#Rs. 30 s, Y & =
% 2/53 & Rs. 10 st ol Z % Wi & 5/74 W & Rs. 20 o, @ vt ¥ 1 Z @1 W feam ¥ 2
(A) Rs. 299.698 (B) Rs. 560.175 (C) Rs. 340.116 (D) Rs. 134.07
36 Ram and Sham together have Rs. 285. If 2/3'¢ of money with Ram is equal to 3/5™ of money with Sp, -
then what is the money with Ram? . >
o g % e gt Prert Rs. 285 ¥ 1 AR THE W @ a1 2/3 9w & @ 09 B 3/5 B vy 3 =
q FuE A w7
(A) Rs. 150 (B) Rs. 200 (©) Rs. 85 \,u?)/ Rs. 135
different places 76 km apart. They stary oo - d h
37 Two busses are at two . n ving towards each other. If the;
are 20 km/hr and 18 km/hr respectively, afier how mycp, time will they meet each other? o Speedg
‘ (B) 2 hrs 50 mins ©) 3 hrs
2 he —orem WA ¥ 13 (D) 2 hrs 30 mipg
aaﬁ%faﬂﬁfﬁﬂgﬁﬂgmt ma@_m?wiaﬁmaﬁm%' "‘ﬁﬁ‘lﬁqﬁ{
20 foret wf wrer o 18 e R o are et 2 gy,
(A) 2 (D) 2423 e
OR22-3_C] e

X is a% more thap Y

a . . tween
aand b is nd Vs by, less than 7, 17 x > 0, y > 0, Z > 0, and X > Z, the relation b¢
X, Y ¥ a% oiftrs ¥ gl o ara 7=
C Y, ‘ b %
HEu ¥ ? Zﬂb%mtIG&X>0,Y>0,Z>OaﬁTX>Z,?ﬁaW

(A) 100a < b(100-a)
(C) 1002 > b(100+a) (B) 100a > b(100-a)
(D) 100a < b(100+a)



b that none of its digits is 0, If you remove second or fourth digit,
quare. If you remove first digit, resultant three-digit number i
cated more than twice. What is the remainder left when square
a1 A FH B FTA

38 A car has a four-digit number, suc
resultant three-digit number is a perfect 3

a palindrome. No digit in the number is reP
of the car number is divided by 57

TH B A WX o B dEdr g7 IB

A R d ot @ s gw T T E 31 aft o TR o 7 K, A _

W(W)ﬂ?ﬁtlﬁwffﬂﬂ?‘ﬂﬁamﬁmmmﬁm%ummaﬁﬁwaaﬁﬁ
3'1!13?1?"%?

5 @ frmfrg Rear wmar &, & 1
(A) 1 (B) 3
(Cc) 4 (D) 2

NOT appropriate?

Below are given a set of analogies. Which of these analogies are

39
(a) Ocean: Pacific :: River: Nile -
(b) Zoology: Animals Cardiology: Brainy
(c) France: Europe = China : Aus'traliap
(A) Only (b) ' B) Both (a) and (¢) (C) Both (b) and (}’-‘)_ (D) Only (©)
ﬁmﬁmﬁﬁﬁmwtlﬁﬂﬁ-ﬁwﬁmﬂﬁqﬁ ?
(a)qsram:uaﬁa::ﬂfr:fﬁﬁ ‘
(b) mﬁfﬁﬁ?:qﬂl::a\;ﬂé‘d\'ﬁm:ﬂﬁﬁﬁ
(c) ®id : g ;@9 s faan
(A) aw (b) B) (a) T () adr (@) ST (© (D) FI9(©)
40 Below are given a2 set of analogies. Which of these analogies are appropriate?
(a) Prime : ] :: Composite : 8
(b) Pedology: Soil :: Demography: Population
(c) Sky: Cloud :: Canal : Mountain
(A) Only (b) (B) Both (a) and (b) (C) Both (b) and (¢) (D) Only (©)
ﬂ%mﬁmwﬁzﬁmwtlﬁﬁéfﬁ—ﬁmﬁw@a%?
(a) a-‘mT?\-'T:]::'mW:S,/
(b) ST frgr o FEGiREEDY TAECEEF
(c) STepTeT : qI&el . qET : qdd
(A) @a (b) (B) (a) T (b) i (© (b)) i (D) ®Fd (©) Q.
& YA
41 "What would be the next two terms in the given alphabetic series: bbCCC, cgcEE, e_:HL[;H.’ _h:th{;, 1,‘}“
?" . . : . - N
(A) 1IPPP and qqqVV 8y 11IQQ and ggWWW 'Mcﬂuga
O 11QQQ and qaqWW "IIPR and qqVVV
& é qutaren saen A o A T A& ¥ : bbCCC, cccEE, eeHHH, hhhLL, - ?
(A) 1IPPP @@ qqqVV B) 1QQ Td qqWWW
(©) 11QQQ T qaaWW (D) 1P T qqVVV
42  "What would be the oth term in the given alphabetic series: zYw, xWu, vUs, 1Sq, -reeeeere aon
& ¢ aof swen 7 oal UE P & : zYw, xWu, vUs, tSq, BT '
(A)  he B) g, (C) mOk (D) fTp
Page - 12 [ P.T.O.
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A and B decide 1o travel » LS
43 el frem place X to place Y by bus. A has 185 10 rto A IN this *

is ?0% of thct bus ‘farc for two persons. B finds Rs. 3 with him and hands it ove

which one of the following statements is correct -}

(A) Now the money A has is just enough to buy two tickets.

(B) A still needs Rs. 2 for buying the ﬁ'Ckcts_‘,

(C)~ After buying the two tickets A will be |eft with 50 Paise”

(D) The money A now has is still not sufficient to buy two tickety y afre 3@ S qeell
AGﬂTB.mXﬁwﬁYﬂwﬂtmmammﬁmuﬁﬂﬂlAﬁm 10 8. !- e hgﬂ"r"f'i A
¥ @ gx Q iRl & 1@ I & 80% hatm”_mgm,a/\mﬁqmm X

frer & ¥ B9 | wuw W X7

(A) o A% TR A @ R, qE A Rae wiy ¥ fg wafa ¥

(B) frwe wld & g A & ondt W 2 5. o smasawa ¥

(C) 2wz @l & weag A & o 50 4 a&d)

(D) Atwwﬁmt.nmmammtmmmm

s I IL, 11l and IV. Assuming the statements 1O be

44 Three statements are given followed by four conclusion .. decide which of the following

true, even if they seem to be at variance with commonly known fact
conclusions logically follow(s) from the ste:gments.

{
Statements : (A) All squares are boxes.:
(B) Some bo?cfi_s are coEmred.

(C) Red is a color,
Conclusions : () Soru:ne boxes are red.
(1D Sorﬁe squares are red.-
(1) Some squares jgg__cglgyred_,-
(IV) Some boxes are squares.
(A) Only I follows (B) Only II follows
,JQ}‘ Only III follows - (D) Only IV follows

& s % &g A Pred 1 11, 11 el 1V Re g ¥ #u & @@ 9+ g5, W@ & @ a9 'Y 8§ S aedy
3 first wdlld BR ®, a9 Aftg s Peefefad § & BF-w Fred sl @ afbs sw ¥ sETT s ¥

0 (A) @ =i aiE ¥
(B) B afaw i ¥
(C) wm @ ¥l
frerd: () 9 s @@ ¥
(1) 5 =t am ¥
() v Tt v &
(IV) #® siea i ¥
(A) ®ad | JgETw ST ¢
(C) @ I srgawr & &
OR22-3 C] Page -13
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‘ Below is pi : toy o .
a BIVen a venn diagram. Irrespective of what normal belief is, the depictions in the venn diagram;

ar : " -
e tolbe Considered correct. Based on this diagram, select which of the given statements have a pOSSIbIllty
of being trye,

Statement A : Some stickers are sheets.

Statement B ¢ Some stickers are mats

Statement C : No sheets are‘malsw

Statement D : Some carpets are stickers

Mats Carpets Sheets Wallpapers

Wallpapers I

(A) Statements A, B and C only

(B) Statements A, B and D only

\}Qj/ Statements A, C and D only

(D) All Statements A, B, C and D

ﬁ@%mﬁmw%lmﬁma@ﬁﬁﬁrﬁ,%Wﬁfé&mﬁwﬁaﬁvﬁmmaﬁm
gem%mwﬁqwaﬁﬁﬁmﬁmmaﬁsﬁaﬁm%.mmﬁﬁml

FAA : 35 fead ofie ¥
F B : 35 fead dgw &
FH C : 33 e e =& ¥
F4A D : 35 Ficy fead ¥

ﬂzm iz CIGERT
femd
O

ey

(A) %ad ®ud A, B 3t C
(B) @&aw mua A, B 3l D
(C) %aw &u A, C 3T D
(D) uw A, B, C &t D &+t

T.0.
OR223 C] Page - 14 [P




or the statement

Given statement is follow : . You have to consid iven
® to be TRUE. even if it s:;:\? )l/n1 ‘;: ::“:,l,:‘:r,:,:t:‘\:::;:][:::;:]nivlr:l;ns:(lxun facts. Decide which of the gIve
assumptions logically follow/s from the given statement. to repleniSh
Statement : It is necessary to grow different types of crops in each alternate season
the nutrients in the soil,
Assumptions : (1) No crop can be grown for the second time in the same field.? ire additional
an  Ifa (.1iﬁ‘erem crop is grown in the next season, the soil does pot require adc
nutrients like fcnilizcrsv
(A)  Only Assumption (I) is implicit,
\,(BT Only Assumption (1) is implicit.
(C) Neither Assumption (1) nor Assumption (I1) is implicit.
(D)  Either Assumption (1) or Assumption (II) is implicit. _ et
R g e & W A g (1) ohe (1) g g ¥ o e @ w3, R A A @
3 fort v B 1w B B & aremoit ¥ @ @ @, e w9 @ g T B F E S R
T]E wﬁmﬁﬁﬁ*mmmmammﬁmﬁmwmw I
() s e qed e omé o 8, @ Pl @ odw 38 s dow A
HETHA T B ¥
(A) &aw gweem (1) ffem )
(B) %aw aweon (1) ffea ¥
(©) =& arem (I) 3fx 7 & =reom (1) fafea ¥
(D) arn (1) 3 greon (1) S fafea )

47  Given statement is followed by two assumptions numbered (I) and (II). You have to consider the staterflent
to be TRUE, even if it seem to be at variance with commonly known facts. Decide which of the given
assumptions logically follow/s from the given statement.

Statement : If farmers want better yield then they should use organic manure instead of chemical
manure.
Assumptions : (I) Chemical fertilizers have some bad effects on health._-
(I)  Chemical fertilizers do not produce as much yield as organic fertilizers—
L4y Only Assumption (1) is implicit. o ' ’
(B)  Only Assumption (II) is implicit.
(C) Neither Assumption (I) nor Assumption (II) is implicit,
(D)  Both Assumption (I) and Assumption (1I) are implicit.
ﬁgm%ﬁfﬂgﬂuﬁﬁgwmﬁmm%, W & T T T ey
AN W, ofbs ww & Ry T B & W owm g
R . ﬁWw%mewwWww'
[ dvalil dbubll
(AT, 8 ) S B T AN e dre @ @ B 3
B) = urem (11) e ¥
g ::'m““"" (1) o 7 & wren (1) fafeq 3
() sfre wroom (11) 2 fofim %)
OR22-3 (]
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T . aat - . iagra
Below is given a venn diagram. Irrespective of what normal belief is, the depictions in the venn o
ts have a possibility

are to be considered correct. Based on this diagram, select which of the given statemen

of being true.
Statement A : Some oceans are canals -
Statement B : No rivers are lakes .
at the same tifpe.

Statement C : Some oceans are there which are river, pond and canal
Statement D : All lakes are ponds"

Oceans

Rivers

Canals

\

S~
41‘ -

o

(A) Statements A and C only —
(B) Statements A and B only .
(C) Statements C and D only

(D) Statements A, B and C only
A o 37 Ir@ Rear man ¥ ) wm= faure R S of @, 39 emal ¥ RA o fasvi @ gé@ g s
W AtE & s ¥ Ry T FeE § & e s @ @@ 8 A e ¥, swer 999 S

A : FB TEEPT T E —
A B : 1% T8 i 8 o —_

F7 C : 38 Herert ¥, W T §Hw A9, e o T ¥y O
FAD : o A arom ¥y CO

(A)  @ad &ud A sfic C y

¥ad HuF A ofrt B —
(C)  %aw @u C ot D A ~—
A Faw #uT A, B ok C

OR223 ¢
Page - 16 [ P.T.O.



. ?
49  Which figure will replace the question mark (7) in the given figure

& ¢ ol ¥ weTETew frw (7) W A

® ompfn whvenfiey #M 7
<A
<& S| ? -
o<l Dol \NO o -
<> Ol . [€0% o o
o I S R I R

:  (A) Some cakes are bi %s
Statements EB)) Some biké¥’are h_iﬁs
(C)  All laptogs are bikgso
Conclusions : (I) _ All laptops are hills~Q
(II) Some laptops are‘_cak\eﬁ_.;l/
(1 Someﬁc‘al.-:esxal:e.h|l|sé Q(}
Some laptgps are npt cakés. . . w -
In the light of the glt:/o)ve, chodse%tlfg)éomctp'ﬁ’nkﬁﬁr from the options given bélo

& Given below are some statemem;kand concl sions :

ither (II) or (IV) follows
1) follows (B)  Qnly either (Il
(© Only () or (1) follows~ (D) Quly () and (IV) follows
R dw o Ry R _ —
T : (A) 5 &, a5 ¥

(B) 3w T, wedar ¥
(©) wh dweiw, aw ¥
frd () wd duetw, vt ¥
(I =i g, &% €
(D) & &5 weiyal 1
(V) wd mﬁm Ll zl‘ﬂ‘@f i
I ' % yary &, R fereal ® I :
(A) i::ﬂl)agﬁmmtl (B) mmﬁ(ll)m(lv)wwt'
(C) Faw () @ (1ll) sy wen ¥1 (D) &= (1) AR (1V) s &@ ¥)
@ Given below is a statement followed by three corfolusions I, Il and II1. Assumin
decide which of the conclusion logically follow(s)?
Statement : The rise in inflation is likely to increase interest rates.
Conclusions : - T ) )
(I) There will be decline in
(I1) There will be more de
(1) The rate of unem
(A) Only I follows (B)  Only 111 follows
&) Both | and || follow

D) Both 1l and 1II foll
1 0% e e 8, fores are i P 1 11 o 1) =

™ ¥ HuT B w9 T T
-3 Pret St ey § 7 ¥ o it
BT Ty ‘q@ﬁmr&ﬁ'qﬁnﬁmh

(I)WﬁmﬁMMr O

() & ¥ sy g3,

g the statement to be true,

the number of borrowers»
posits in bank..
ployment will falla

(;lll)gﬁwwhﬁnﬁﬁrﬁl
) l LZoR “(B
AN & s s & i&,; W 11l g e &
OR22-3 (|
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speed is 40 km/hr and the

52 Two trains are moving | ite directi g in i | nd its
g in opposite direction. First train is 150m long a 5 f the se
length of second train is 170m. If they cross one another in 4 seconds, what is the speed of the second
train?
(A) 248 km/hr (B) 320 km/hr
(©) 100 km/hr (D) 160 km/hr .
2 23 Pt R 3w T ¥ 1wl 29150 ), ofdh & e geh) e o e 40 Farkt B AT y
170 . ¥ 1 A qEt B 4 dw A oW wh ¥, D geh 3 A by FwE
(A) e sft 248 P (B) et wfa 320 el
(©) = afr 100 Rkt (D) = wfa 160 fft
53 A man covers distance of 1400km in 80 days resting 10 :o:q.m a day. If he qomar_anaro_:.m a day and walks
at 2.5 times the previous speed, then in how many days will he cover 1000 ! g
(A) 35 days (B) 20 days (C) 40 days (D) 50 days -
s o wR 10 % o B ge, 80 Rt F 1400 e 2 g w e ¥ 1 afx 7w ARl o =
@t ¥ ol Rrweh wfy & 2.5 g why & =@ @ 9 1000 st @ gt fea Rl & 9 BT 7
(A) 35f (B) 20 &= (C) 40 f= (D) 50 =
54 A fraction becomes 3/5, if 3 is added to co?.:::.nﬂmuo_. and denominator. And, it becomes 1/2 if 5 is
subtracted from both numerator and denominator. What is the fraction?
Iy aisr ofk &Y I A 3 e R g A uw R 3/5 € o ¥ ) et SR BT AW A § 5 ge T TE 12
g I R ?
A) /21/37 B) 79 (C) 49/67 (D) 9/11
55  There are three fractions. When the largest fraction is divided by the smallest fraction, the result 3/5 is
greater than the middle fraction by 1/3. If the sum of the 3 fractions is um. What will be the difference
between the largest and the middle fraction?
A i & | o el 7@ e @ s o fr @ fonfra fean s 2, @ afom 3/5, mem = & 13 ot
a1 ¥ 1 aflk 3 A= @ g uwW | 999 97 oIt wew fr= % i fea staw @ 2
(A) 14213 (B)  109/120 (C)  69/25 (D)  49/40
56 The product of two fractions is 5/4 and their quotient is 4/20. If the denominator of one fraction is
2/5 Himes that of the others fraction, then what is the sum of the two fractions?
Muw Ju..ﬁ_ M:uuﬁ__maﬂw wkw%ﬁﬂﬁ&dtmcw 1A om e o gt e F e w 2s T R, @ @
(A) 3 B) 6/5 (C) 2/3 D) 1
S7 The sum of numerator and denominator of a fraction is 5 less than thrice the denominator. If th
numerator and denominator are decrease by 2, then the numerator becomes half the 4 b ALAG
Determine the fraction? € denominator.
UF = & sisr ot €T & A 6T ¥ iy A . .
SEq ¥ 1T i N T A | 2 wey ;
s g 1 e Pruifa @it - T e wme, @ sigr s @
A) 4/7 <
“ B) 43 © 5 @ 3
OR22-3 C ]
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£ Mala is sis i i i
g8 4 aohzhhnﬁ.ﬂqhhnn:w_w__ﬁ:} has two daughters: Reema and Seema. Reema ia married t
s Satish. Below are giv . iven information.
the statements is/are definitely _ﬂ.aw: fom sttt Bared o 2 S0 T
A : Reema is niece of Rekha.
J . Rekha is mother-in-law of Seema
C : Mala is sister of Rekha. .

o Satish. Rekha
select which of

A.@ Only B is true (B) Only A and C are true
(C) All three statements are true Dy~ None of the three statements are true Py
%) Y ader A B

aren w09 B w X Edn B D AR ¥ frm & o wdhver & g€
uﬂﬁiﬂaﬁw;igySﬁﬁﬁﬁayﬂ_é\waﬁgﬁwiyf

A tm ta @ wdeh ¥

B: X, € & ¥w

C : Wi Y@ @ W ¥

(A) ¥@Bwdt B) Fam Aot Caht ¥

©) v whi (D) mﬂﬂ&@%&&ﬁdﬂ&ﬁw

mers of a buiding 833::&
Then B and D move diagon
d anti-clockwise respectivel

59 Four security guards A,B.C,D are giving duty at four co!
given figure. After sometime A and C swap their places.
corners. And then B and D each move one side clockwise an
move two sides each anti-clockwise and clockwise respectively. What is

A C

B D
(A) Diagonally opposite to D (B) Diagonally opposite to B
(C) Towards the left of B (D) Towards the right of A

the current positi

as shown in the
ally to opposite
y. Dand A then
on of C?

qfER $ 9 Bl I S & @ ¥ 38 T

fo2r T faw & R@me g % §9F 9rC gean s A,B,C,D U ¥l
o D Rred faadia & @ 3t wga ¥1 ol fer B ot D
C

T A 3T C 9Tt 9T W g @ ¥ 5T B

nﬂﬁﬁauﬂa%ﬂa%i_iw_c§>?n&.%ﬂznmjﬂm%m?smmﬂaw_

& adum Rafa w &7
AL “

A e

9B i #D
(A) D% wm ford (B) B ¥ &mA fed
\C) B% T 3T (D) A% T ax
60  Which figure will replace the question mark (?) in the m?o: figure?

& 7 angfa A yearas fug (7) & WA T SA-@ ongfa s ?

~

= 1o« (<11
«— = MV
A
A |21« ® |11 @ __H”_l.ubv o k=1
[ - —
(0) X
R22-3_C] Page - 19
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61  Six friends Rohit, Rachit. Rinku, Raj, Rajat, and Rishu are sitting in a row at different vo.m_:wn.m. but not
necessarily in the same order. Rohit is sitting at the first position from left while x&.ﬂ. is sitting at ‘:8
third position from right. Only two friends are sitting between Raj and\ Rinku. Raj is an _Banm_.mﬁ
neighbor of Rohit. Rishu is not an immediate neighbor of Rajat. Who s sitting at :..m wm.nom._\vo!:o:

from the left? . o
(A)  Rachit A?\E (©) Rishu (D)  Rinku

au?u%m_Aﬁa‘nﬂ.dﬂ.ﬁm%maﬂ&wmmgﬂaéﬂaﬁ&ﬂﬁw.@?xﬂm.@u&?w%wu
¥ 81 M ad | OER T T Ao & ol o A @ At e o den ¥ T A fig B A daw @ R
R ¥ W, WM 1 oo v ¥, Ry o @ Praean w@ed T ¥ amd & qat e 9T 3 ¥ 37

A T @ A®.@ ® Cx fau (D) fz
OB ot

62  Six persons Raj, Rohit, Rachit, _ﬂ.&sr ﬂry and' Rinku are working in an office. Each of them has a
favorite car viz. P, Q, R, S, T, and U, but not necessarily in the same order. Each of them got a different
salary — 1000, 2000, 2500, 3000, 3500, and 4000, but not necessarily in the same order. Rajat gets a
salary of 2500 and his favorite car is U. The one who likes car Q gets a salary of 3000. Rachit likes car
P and gets a salary of 3500. The one who gets a salary of 1000 does not like car R or S. Rinku does
not like car Q or S but gets a salary of 2000. Rishu gets a salary of 4000 and does not like a car R. Rohit
does not get a salary of 1000. Who gets a salary of 3000?

(A) Rohit (B) Raj (C) Rinku (D) Rachit
Bt =i T, , d, o, fry ol g 0@ Fafaa & am 5@ I A o > 99 & g6
¢ st P, O, ﬁﬁo@?i%@%ﬁi.ﬁﬂ _ ﬁm-_sﬁrv&%ﬁw
(30003588 st 40 ¥ A Tl T 5 T B A 2500y foere ¥ are et v
FX U ¥ & @ Q wew & & 3000 Ia firerar | T &t &7 P 76 £ ol 3@ 3500 A e 31 4w
o =t R 1000 I FOR A0S v 7 ¥ 1 g L F1g Q a1 S www T ¥ AT 2000 Ja fveran
\¢ #1 Ry o1 4000 v e ¥ ohe w8 R i s 8 &1 e 3 1000 3w wét frren 13000 a1 e Ty
S@m (B) T ©) f= (D) taa
63 Theonly ___ with the proposal is that it is a little expensive.
(A) glitch (B) blunder (C) hardship (D) . dilemma

Five friends P, Q, R, S, and T live on a separate floor of a 5-floor building,

but not necessarily in the
same order. The ground floor v

. floor is numbered 1, the first floor is numbered 2, and so on until the topmost
floor is numbered 5. S lives immediately above P. Only two friends live between S and T. P lives on the
lowermost floor. Q does not live on an odd-numbered floor. Which floor does R live on?

(A) sth (B) 2nd () 3d (D) 4t

&m?wmo_x_,m%qﬂm.iﬂwﬁxwa.ﬂ‘%%ﬂiw.%iéﬁw&ﬂam%
maqw%%_mﬁd_w.ﬁ&%%ﬁ.ﬁ_ww,%w&gﬁ@aﬂy%%ﬁgmw_m‘vw.oﬁ
ST ¥ S o T & diw dawt A firy 153 §1 P wed A B v v e B Q R wem any i 0
TE e ¥ R few G W @ 4y T . , , . ,

(A) sai (B) g - (D) 4

Ly
OR2:3 C] . Page-20 N _@g [P.T.O.



4

Below is given , figure ) p id of size 5 x 5.
The horse can ::ém m_:o. M Which g horse is placed on one of the boxes in a square gr
i) two boxes g o “lther op the following ways in a single move:

O ces 1o Mher ten OF right side and one box to either up or down side

iii) the hor °"up or down sige and one box to either left or right side

(i) the horse canpey Step op . s id and any move fo out

of the grid s NoT legal &reY box. The horse has to stay within the grid and any
' many white by . )
How many OXES are thepe Which cannoy be covered by horge within 3 moves?
& ¥ Prefefeg 3 q et Wy

(i) two boxes o cith

® o ®) 1 © 3 ® s

. i i re?
¥ How Mmany triangles are there in the given figu

gdiwimﬁﬁ

© 8 - o 9
[P.T.O,




aq«%mx friends P, Q. R, S, T. and U are sitting at different positions in a row of the company, and each of

them get a different sal ary viz — 500. 800 500, 1800 & 2000, but not necessary in 5% m”:“a %as.
//ﬂ“,_ e friend who mo_n,m ns_.mQ of N.:c:. does not sit at the extreme end of the row. Q sits immediately before

3 i left of S. P sits at the left eng
and get ) i tween U and S. Q is second to the )
\nU ;Ioi_:._or ms_.._..,\acmm :.@a_..V

, A) 1 3) 2000 (€) 500 (D) 500 or 2000
“JJ Mavﬂmwommwmq%ﬂmﬂ&%@qﬁqeﬂ:\%iﬂ@wﬂ%Aai@nﬂ&iﬁﬁdlﬁa
A Ry & 3 - 500, 800, 1000, 1500, 1800 3T 2000, fit rdy = et v ¥ #2000 ¥ Y gy
O o om S 9 ¥ QR ¥ % 973 T b o 50 500 2 Prer F1T, U A 5.5 4
® RS QS & a1 & qut @ 7 21 P ufil b A BT 97 dean ¥ ol @ 1000 de fiewar &1 T #1500
= e P B1R 2 7 2000 ey Pt B O T & 1800 A1 U a7 Podem A e 37
A (A) 1800 (B) 2000 (©) 500 (D) 500 a1 2000

i ives on a separate floor of a 5-floor building, but not necessarily in the
aw ”MM%%MMM .w:% mﬁ_wcmm ﬂ_%o_,.ﬂ__m_ numbered 1, the first floor is numbered 2, and so on until the topmost
floor is numbered 5. Each of them also has a favorite subject from — Hindi, mn:uno.@v Math, Art, .Ea
English, but not necessarily in the same order. The one who lives on the second :oow likes Zmzr. R _w_am
Science and he lives on the third floor. The one who lives on the lowermost floor likes English. P lives
R on the fifth floor. S lives on the floor immediately above T. The one who likes Art does not live on an
Wr ﬁf)? odd-numbered floor. Who lives on the second floor?

R yo T BE P QRS o T uw S5t & W & oMo Wik W Ted ¥, i wwd T8 5 3 H9 & a4
A e S | ¥R T A wom 2 8, ol i ave @ Su B e 2 G S 31 awd 4 ache
3 @1 el e o & - Rl s, i, @ oire orich, At et T e 8 B9 F A1 7 e o qut
S i 7 e by e ¥1 R 9 P i & ot 9w At i o vea ¥ 9w st o o 4
Q&b ¥ T Y e B, SH T 7 F1 P S welte X Teal £1S, T, % d ST a1 9w OF e ¥ 7w

KX y@@qﬂ.wﬁggiﬁiﬁ.idﬂ#ﬁm@&ﬂ%gww "o

¢S ®) P © T D Q

v 69  Given statement is followed by two assumptions numbered (I) and (II). You have to consider the statement
to

vo,:.ﬂcm. even if it seem to be at variance with commonly known facts. Decide which of the given
assumptions logically follow/s from the m?mzw::o:_o:r

Statement :  To save the environment, a complete ban on illegal mining should be imposed on the
whole country,

Assumptions : () Mining done |
(D Mining s op
(A) Only Assumption (D) is implicit
(B) Only Assumption an is implici
(C) Neither Assumption (1) nor Ag
(D)  Both Assumption (1) apg Assumptj PR
T ption (I1) are implicit.
Wn?ﬁaﬁwﬂuﬂwﬁi%%g:gﬂ?iaﬁ%m&ﬂﬂw..i%ﬁmﬁﬂm”wﬂm&q
T qgfae B qEn oy ™ s 4 G o ik &0 & R T B & wry s ¥
aromg : (1) ﬁﬂ&ﬁ@?ﬂ:w;ﬁagﬂﬁ%mgi !
. an @™ %ﬁ%&%ﬁ 8, b o) gawem T dar T
(A) e arom (1) Pt g T ORI e ¥ ¥ o
Faw groon (1) Fifg ¢
(0)) a%aﬁécv%x%aﬂg:_
(D) e () S ST 1) g e O !

OR22-3_C]

f

\

gally does not cause any harm to the environment.
e of the factors responsible for environmental damage.

t.
umption (Il) is implicit.

Page - 22 [P.T.O.



70  The following question, contain four problem figures and four answer figures marked (a). (b). (e and
(d). Select a figure from amongst the answer figures which will continue the same series as given in the
problem figures.

Frefefem wes & are qwen ompfrat she e se smpfat ¥, e (). (b). (o) she (d) P P mar ¥
S PR ¥ A 30 F B 1w Y A @ A B wh @D A wwEm gt § A wd R

Problem Figures (wwan swgfrai)

<A@ |

Answer Figures (SW sngfi) .

@i@xeke

@ o © @

A) (@ (B) ® © (© D) @

The following question, contain four problem figures and four answer figures marked (a). (b). (¢). and

71
(d). Select a figure from amongst the answer figures which will continue the same series as given in the

problem figures.
Wﬂ?&muﬁ&ﬁﬂﬁ-%%gaﬂ%m.?ﬂw?y@i&%@?@mggw.
%%mw%ﬂ%@@ﬁmﬁi%q&%ﬁﬂ&%%ﬁgﬁ%m&iw_

Problem Figures (¥wan wrHfaai)

$on Am@m*@%w%@w%

®

Answer Figures (3t Sgfoai)
Wﬁ@o O NN (N
@ ® @ @

© (© o™ @

(A) () (B) (b)
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4 da A% ks, and the nverage

. tlent
7 lightest pn enviest and the

T - . “the
There are R patients in o hospital, The average welght of the jght of the h

‘ | 1 ' ) he we
weight of the 7 heaviest patients In 82 kpw, The l"n'l‘rt‘lll o hotween
way el Ofrray we afrere Ay

lightest patient is ' b 1ahe 7
s N R VNN |7 e wes APy o wewoAs fmetee oo . 3
S2 Pttt & el sl ofve e weds Oy B eter b e g ofere e B () 50

) 47 () A8 Q) 49
' ents, Rahul scores

' ose 25 stud
Total 2§ students appenr tor an examination, Rahul and Mnlimn‘;:rgri'ill":"::f::;c weore of all the 25 students
. A8, The - ,
score of the 24 students other than Mohan is Vohan has scored?

98 % | qEA

OR. The average
. ‘ uch
2 more than the average score of 24 students other than Rahul. How m

s 2

l oy gniftrer ¥ 1 crger i Enre _
uw wllen W gw 28 ww auftan o K aw 25 oY ¥ g ofre wew e m i
¥ e m?“u Wil w ol e 48 & 1wl 25 wrsiY e ofvwa w@iye Tger Y g 24 oAl % sivera v

Q2 afuw ¥ we A Psen w R b 7 0w
Ay 72 (B) 86 (C) (D)
|

N 1 "o ) v g - . ‘' 'l ( . S c
74 The parents have m number of children, The average age of father, m‘mhcr fl!l(' m children is 20 lhI
father is 48 years old, and the average age of mother and m children is 16. The number m (numerica

alue) is ,
;am:cﬁ;iuw\'nﬁmmt |ﬁm.ﬂmah'rnnqﬁ?uﬁm«rgzot | fen @y amg 48 ad ¥, st aren

aﬁTm“ﬂlﬁmwmtlmm(W'ﬁﬁ)m%?
(A) 3 (B) 6 ©) 1

98

(D) 2

is twice as old as B and C is thrice as old as A. If A's age is 2 years less than the average age of all

A4 'blhn:c A. B and C, then C's present age, in years, is
AR ST Th Y AR A @ oy A, B st C &Y # stwar amg @

A% o1g B dph ¥ ot C B

zﬁmt,qﬁcﬁuﬁmm,uﬂﬂMt?M o

(A) 10 ®) 9 8 12

76 Twelve years ago, the age of’:ﬁ‘e father was thl‘e(?'times thé age of his daughter. After t»\'aelve years,
father's age will be twice than of his daughter. The ratio of their present ages is
ma&'{&ﬁmaﬁwgmwvhmgﬁmgﬁﬁ lmﬁmfﬂmnﬁwgmwuﬁmﬂm

ﬁ’ﬁfmmqmmmmt? -
(A) 4.7 (B) 2.7 [(€C) 4:3 (D) 7:3

77 ;J:E::e;r'ﬁfe :'-‘Cided to Tt;m n:d Product the ages of her children Ishan and Anushka. The sum and
ages are 18 and 56, i : - : ", \
possible ages of Ishan ard Al respectively. The solution of which Quadratic equation gives the
e Trren v 1 o 0 o v 1 o e | S g
TrTE B 6% fFe framy weivaom w0 ol e @ i
(A) x*+56x-18=0 "B) i S6x + - Wg&mt?
oo
L L 3

78  The product of Vidhi's age (in years) : '
th Y .
than twice her present age. Vidhi's Pres::? :’::(ri: ';ppn?a::;disher age five years later from now js | more

Eﬁﬁﬂd%ﬁﬁﬁf&ﬂlﬁm(we{)m
anamtnﬁmaﬁmmm;';mﬁ“‘“mmmmwmmtw
W W © 8 D) 19
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owad Tignes
19 Pl o i puention, contmin fom prohlem figres and Jonin w

fl Sl
g w6 YIven M the !

amiigst e anmwer res which will continme the same s

ol 0
Pt o 8 s oo gt she ape e gt W) o g 20
ot W W i oA A e spbid i fond Y

Froblem Fignves (e sgfa)

" r'S ,ﬂ;p -
U m X
OX Imo zl w9
Amswer Figures (Tw1 smgfara)
SASiA mAm AamT
- X|®@ JCe X
»* 0 X O E -
n | : (d
(n) (b) \(y ,)/ /
(A) () (B) (b) T () (c) (Dy (d)

80 The following question, contain four problem figures and four answer figures marked (2). (b). (c). 2é
(- 4). Select a figure from amongst the answer figures which will continue the same series as given n e
p oblem figures,

f=n=ﬁm“ﬁﬁmma@ﬁﬁmmmmﬁt,ﬁm(a),(b;,(c;élv(d;iafza%vxwi
P Wﬁawwmwmﬁﬁ_mmﬁmmﬁmmﬁ?ét

f

/

Pri »blem Figures (e amgferai)

rF—| — ; )
L ,“ e "-—. ) Q—-—.‘ < .
= ——p

Answe, * Figures (zet i)
-— — " ——-—
— [ ] ‘-——-. ‘———-. ‘—"———.
: : — ~— —
(a) (b) (c) (d)-
" {
(A) (a) (B) (b) © (o (D) (@)
0R22‘3—C I Page - 25 ‘
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Manda is Roing (g |
O buy 4 | o ;
(0) Musi be for less | A IOHOW'“S is the
S8 than | 8
(b) Must have Rs. 40,000,

(¢) Must hav

: by his father:
criteria of selection of the laptop given bY

Cqual to op more than 10 GB
¢ Intel

rocessor of version ;
(d) 11 any | ersion i3 or above, o
a IS Snticf : ? 1Ss10n
i it y ¢ Ptop is Satisfying all the above criteria except (a) then it will need his dad’s perm
| IS for legg than Rg 45,000
(L‘ [} .

If o ‘ . .

if ?‘“znlf‘;{ipw;s Satisfying all the above criteria except (b) then it will need his m?r;: I;‘;"(;B’;S;EZ
S of m : in the market cost Rs.

has 9GR RAM ore than 8GB. NEWCOM is a new laptop in the

I . : . . lapto
t has an Inte| Processor of version i3. Which of the following is the option below is correct for the laptop
given above?

(A)  He will buy the Laptop. (B) He will not buy the Laptop.
(C©)  He needs dad’s permission to buy it (D) He needs mom’s permission to buy it.

mwéﬁwmﬁmmtlmﬁmmﬁqwm*mmq"ggi"i &
(a) =. 40,000 & = &1 g1 =

(b) RAM 10 GB & stmat a1 swd aifts e @i
(c) astw i3 W E = F as @ 2w wRE S i

) ﬂﬁﬁﬁﬁﬁwmﬁwﬁw&ﬁaﬁ{nm%(aﬁﬁ@maaﬁmﬁmaﬁmgw%aﬁaHaWEn
et afk a% 5. 45,000 ¥ @ @ )

(e) u&(b)ﬁ@saﬂaﬁétﬁﬁuﬁqmmﬁwﬁﬁfaﬁr{umm%?ﬁaﬁmﬁﬁmﬁma?ﬁr
ATFITEHA B TfE T9d 8GB ofa® B W ¥ NEWCOM 9K & s a1 aueiq ¥ fraa ENEG]
%. 38000 ¥ 3T 9GB W ¥

wﬁ'iJashméﬁmﬁlﬁqﬁm‘ﬁﬁaﬁ?—mﬁmwﬁqmm%ﬁmﬁ%?
(A) =& dveg @i (B) 9% A T8 wikm)
©) zﬁ@ﬁﬁ%ﬁmaﬁﬁmﬁhaﬁwﬁrml(m G‘é@'&aﬁ%ﬁt{@wﬁmﬁqﬁaﬁmn

82  On the day the triplets were born to Moti, the female dog.

(I) A weighs more than B.

(I1) B weighs less than C. w

(I11) Of the three puppies, C‘weighs the most.
If the two statements are true, the third statement is -

(A) True (B) False ' (Y Uncertain (D) None o f the above
fdt & wrer g Wil A, Y (triplets) seaf )y s fxani
) BﬁmmAﬁTWGfﬂﬁjtlv
) Caﬁ\'ﬂﬁﬂfBﬁla\Wﬁm‘%‘l‘/
(D)@ Rl & & C &1 O wafe ¥y,
o & dea s
Ziﬂ;m@% l (B) @fw (C) afiaa (D) 9 qam ¥ § w0

[ P.T.O.
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P lony ing i the “‘l“\\lh'l

Y SRR LI "
] .
() Mot bo gy Mg Wil "y 10 pet seleoted for the role o Roglonnl Sales Mannger
(D M hve oy NIy

\ Hn:' '“"“ ‘1
() Nkt hinyve Wtk ey |.“‘ MY Magk,

b candidage UM 1] \!:\ St iy Indin

\ |
siles ol I\lt\lk\‘“l\l they |:i.: '"N]" ‘N " the snlos department

¢ ertifionte of course in
(O 1 coandidige IhlliL LTI .h“l T \\“i'l‘| by o dlane i aditional A
e sale then his e e

| Cling \ Uy i on o e Hend, Wi rkinu in
‘ | N 0 I selevnn i MrN or more )

St ‘Im\ APPL B (e (AT u|‘|\“ h!u‘“ Op I.\I :I:"“}ll;;"\/hl"“ experionce of 4 years or
\\Illl‘l\\\\h“rll\'fu':“ "!\l'lh““‘ Aot \l \:.‘::::"l"‘ Mnagor in (he organization. He hins completed l;ira l:'}sc
A WD N o ihe RINATIT TN Oy, Wherenee W manager, He completed his
) ::\\ will he Inql‘.\.h." Nexperionce ns n sales man 1
) I ANG Wil e SCNL (4 \ Y ;
o A g (5]l it ot be selected the 1R VP
() WA W 200, g LT N 3“' 0 vy gy g fory soaerre ar ey et Prestforfere &
() e b B W gy g A i ';h‘”’i'll
©) A B W gy gy o p!
W ol W anvhaain (q) m) T

U
) -
AR R ST R RIET tzr“m'lr: L;h\"#u)mm 8 S i v o
@) ufk ad anhaare () o Wy O o e

RS AL T A 11;::,:}{ “,B'l%'ﬂ 0w ¥, e Rl & art a5 a1 4 ok oy TR

‘ MR
el A wan N Ay lilmﬂ RARAE TN MY g, ! ' NI
A BN b Wy N g N gy Ay 3:&?%?%%%& ¥ :1*? qtahmqq{n Prar &)
) Em aua sy ooy (B) a8 oy
() SHH WM Qaony Rw g Yy o D) e qaame w:'"q'uﬁ” Sy

Fallowing is the selection criteria (o Nt get admission in “Central University of India” for

any Under-graduate program:
(1) Must have completed High school with at least 9.0 CGPA.

(b) Must have been at least 17 years 8 months old as of 1% Jan 2021.
(©) Must have scored more than 85% in (he university entrance test

(d) If students fulfil ) the criterin exeept (a) but have scored more than 7.5 CGPA in High school then
their case will be sent to the Sr, Admission Officer.

() 1f students fulfil all the criteria except (b) but have more than 90% on the university entrance test
then their case will be sent to the Head of the department,

Rishabh has passed high school with an 8.2 CGPA. He has scored 75% on the university entrance test
and he was born o 271h April 2004,

(A} He will be selected

(B)  He will not be selected

(©) " His case wil] be sent to the Head of the department.
D) His case will be sent to Sr. Admission Officer

fﬂﬂlﬂmmmiam'ﬂ’zﬁqﬁmﬁmeﬁtﬁsﬁm'ﬂﬁwmﬁﬁiﬁrq%@r\ﬁm%wm

rany stude

" Eﬁm, ﬁ*{,{;ﬁﬁ‘?ﬁsm:ﬁm iy %ﬂ:{dﬂ%ﬂ 7.5 ddrd & ot @ we ¥,
(© gmmmmm@xmm W‘?@T""m Reufrarera wasr witem ¥ 90% @ o & @ ey
ﬁ*ﬁwiggﬂ?ﬁ :‘mmﬁl,-m %lWﬁJmuﬂmwNﬁ'ﬁ%mmmﬁﬂﬂtm
(A) 273;";"' 2004 & yorr e

) gy ST Ry %@ﬁmﬂﬁm%ﬁmﬁgmw o S
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Miachesd = dome soow B ST gl WYY o c prmcpie of commess SR F.'"- _'CEI‘ o6 -_:&CI': s

Shns B moves mon 9% of g B i = 2 oonstEm sTurgie berweTm B oot :E.IEE‘ The BXTUW =
N &E’jni_:"_'_: :m“' of Goroe oxETEE p wE 0% JTOVSAT REIS

3 op vichest heTmEmRES T

c‘m_ct.aiéerﬁ-xmv;sd?a,f?hl‘! e = a
There = AOETE b = hes @ viokesE SRS <

‘rﬁziﬁ"*esr:'t.f.dﬂ-:"qjecéuf , o 2
. mﬁﬂﬁmflﬁfrrm?

= ==

Eﬂtsmim:e&zﬁm-ﬁrzm. ] - . 35
3 exn, me saddem d SEUERE S DESm rms = how—<coomEn . = e
- - i e Sk The =o0ie phin B B arahy oS OF e =l

of =TT B e IS of

m:ﬁimiﬁ;xggzm’@;k‘ﬂﬁ:bm: AT @ 3
3 rodks mader o focr SEoloserz = oImEs BT ook TS s 2 -
i 1 E "3 Plans Machen

S

VI '_-.::?.Eiigﬂlm_ - — z
T }%ﬁiﬁ@é(@aﬁuaﬁm the TEIC BDOC ST A
- : ; riot 32 the D3 S QEST ®

= - \aheh e Lea losms o 2w ooz PO )
- TS ShoTie Teood). AARVS =

en_:vhsé.s:ﬁeaaam_ s o =
E s Like Oubello. Macoe— SEzassT -
; ;dan—l,-—sﬁﬁmg

~onosmTrsss 08 mevorshie COBSSEETECSS. - = :
- _ = bl : *@ﬁ ———Q-\“_-I__-_“;_ -_:—:'1::?:&_

v oa O e =pact 0B o ey i
Wh= = s‘ng!htdn:_\bzieﬁ.a@!eﬂmieﬁhﬁfr;ﬁ T mesadEs is ms villam-bero
K Be=lo memiy Sxe0mss racher then EREUSTS i Ombello = ~—oos sy L:‘.Eﬂmif Lewr
z R ~ baffcsed by W““;ﬁ choosss ovil and decoes
I \acheth Teals coldblondsd

I of Shskespesre’s WREK ProTIICOETS
"s pErSpeCTNe. ¢ inatine the po ool issection and gmi-nddes
expressionism B Feodor Dossoevsiy will employ in Crime and fshmenl
v meanine The xctoa of killng 2 kme
C) Prossonist (D) Execuses

(d) King Lear (iv) Execunoest
(A) (2 ) (DAL (A1) (dHD) (B) (@il (DRI (EHIL (@HY)
(€) @Ak (DA (EHIL (dHI) (Dye (AHIVL (DHIN (©HE (@)
§7  Which of the following inferences can be made from B s -What is singular about Macheth, compss
mmmmwwmmgg\jﬁisits\ilhjn—heﬂ\“ _
(A) No kind of comparison is drawn between the four magadis writien by Shakespeare.
(B) Amngtbefwumdics“ﬁmb\ww,smmswonm_
©) bepwiﬂsﬁwahermésmlﬁsmubh\kdmmsmbq@is
(D) Unlike the villains from other Gaasdits, \Macheth i vengeful and ambitious in his plans.
Which of the fO“O“ing statements do NOT find 2 Sl.lm“ in the auiven pa&g:‘_‘
(A) King Lear and Hamlet are longer when comparad o the ragedy Macbeth
(B) The climax of the plays Othello and Hamlet showeasss the Wl of tragedy
(0) Theconu-astelememis;&mwmméﬂksmm_bwm}lacbem
(D) hSlMdﬁmmtﬂﬁb‘e‘mmﬂsm@'ﬂadm
T.0-
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B 1 | .
The foltlj:;i:'gr;heu?lt]_ow'“g 4(four) questions no. 89 to 92 : o "
LangUage g questions are base'd on the following passage in English to test the Comp’ehension
lert?fore these questions do not have Hindi Version. of Engligh
4(3n) weishi (4. 89 A 92) ¥ fiyo frder -
4 95191 ofioh 3 Prefrfan ufvede e omfea ¥ ot ofivoh e 6 AT B T H foe o
Rt wrs Y e v TR
The rich have many assets; the poor have only one
poor, the poor must move to find productive employment.
reduce poverty and share prosperity, the twin goals of the
experiences and growth cpisodes in history have involved a ré
within countries. ,
According to *Moving for Prosperity: Global Migration and Labour Mz}rl.(ets ’ howyever, some of
gains come from the movement of people between countries. Migrants' INCOMES increase three 4
- they move from lower- to higher-income countries. These gains remam Iarge')’.notionai b
o cannot move. Only about 3 percent of the world’s population Iwe'm a country in which
L a proportion that has not changed much over six decades of otherwise “"Pfecedentgd glob
ent. and knowledge flows. Distances in space, culture, and language are inheren
to mobility. The most important barriers are, however, national bol‘deljs-
The gains for immigrants do not come at the expense of host countries because the hosts benefit from the
comp‘iementan' skills that immigrants.bring, or because hqsts are colnsl))umel’s Of Fhe products ang services
immigrants provide. Almost every empirical study finds that increased labour mobility leads to large gains for
the immigrants and positive overall gains for the destination country- That creates a puzzle. The compellin
ic gains and social benefits of migration sits awkwardly with stark po]iticagl

economic evidence on the economi ' kwa
opposition to immigration. Respondents to political opinion polls rate the arrival of immigrants in their countries

as among their worst fears. Citizens worried about what migrants and refugees would fio to jobs and wages
welfare programs, crime, schools, and their national identity. Frustrated by the public’s disregard of theis
empirical findings, many economists attribute political opposition to cultural and social factors, including

their labour. Because good jobs are slow tg ¢
Migration 1S, therefore, the mosgy effo 0
world Bank. Not surprisingly. 4
allocation of labour acrogg ;pac

the bigge:st
0 SiX timeg
ecaUse most
they Were not
a! imeg‘mtion
t 'mpediment;

a trade. investm

xenophobia.

89  From the lines “These gains remain largely notional because most people cannot move” it can be inferred
that seld

(A) People are made to move to other countries against their wishes.

(B) Theoretically migration is likely to look like a boon to many.

(C) People migrate to another country only with the intention of gains.

(D) Any form of gains for the migrants is only temporary and permanent.
90 The statement from the passage, 'The gains for immigrants-do not come at the expense of host countries.”

means
(A) The immigrants can make a comfortable living only if the host countries agree.
(B) The immigrants are contributing to the host countries and not the other way.

{CF The host countries do not have to make any sacrifices to accommodate immigrants.
(D)  The host countries will have to spend a lot of their resources to maintain immigrants.

91 “‘M}icp of the following words from the last sentence in the passage conveys the following meaning
Dislike of or prejudice against people from other countries™?
(A)  Frustrated (Bx Disregard (C) Empirical (D) Xenophobia

92 Which of the following can be inferred from the statement “Because good jobs are slow to come to the
p:\)or, the poor must move to find productive employment”?
gB)) groductl_ve employment is not in the reach of the locals from host countries
© Tgofljogncally sound people have greater chances of finding lucrative jobs
D) p Ind profitable employment one should not be an immigrant in a host country-
oor people have no chance of getting a lucrative job in their own country.
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93 Which Statement describes the word ‘Dual’?
(A) The Possibilities for 'anolving them in your Plans become vast
(B) each of thege alters the Way our natural animg| instincts are realised
(©) " The job of the Philosopher, Midgley argued, is twofold
(D)  Metaphor metre can retury g to our childhood Perspective
94 Fiqd the close;t Synonym of the underlined word from the given sentence:
Scientific Studies cap remind ys of our Kinship with animals.
(A) Lineage (B) Gregariousness (C) Coalition (D) Companionship
95 Identify the verb from the given Options based on the given sentence. _
But language . ansforms thege activities and gives us the Power to alter oy environment in ways
that go far beyond that of other animals.
(A) Activities (B) ransforms (©) Ways (D) Beyond
9% Which of the followip Options pegy describes the given statement?
€ farm at ap industria| Scale €at other animals not just because we are hungry, but because to do
S0 culturally signifies wealth o Statyg
uman beings COnsume meat ip 4 | e scale .
(B) Apundance d Prestige dpi nuirln at:: gbeings to act independent of their neeqs
©) Itis a com N Practice 1o °at animals whether one is hungry or not
D)  Most of the farming s done only for commercial purpose
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97  From the passage
(a) Using square nets by fishe |
(b) The practice of adopting square nets IS financially sustainable.
(c) Fishermen were always enthusiastic about using square nuts.
(d) Young fish cannot survive when farmers use square nets extensively.
(e) In the near future, many states are likely to insist that fishermen use square nets.
(A) (@A), (0)-(1), @-(T), (d)-(F), (e)(T)" (B) (@-T) (b)-(T), (¢)-(F), (HE). ()-(F)
(F), (d)-(T), (e)(T) (D) (a)}(T), (b)-(T), (c)-(F). (-(F), (eHD)
«Gince 2015, every trawler in the district now

(C) (a)-(F), (b)T), (c)-
';:an be inferred from the statement

Which of the following

uses square mesh nets””

(A) Fishing has become sustainable in Sindhudurg since 2015.

(B) After 2015 in Sindhudurg farmers were allowed to sell only big fish.

(C) Before 2015 sale of only juvenile fish dominated the Sindhudurg fish market.

(D) There was a very strong movement by farmers against square mesh nets in 2015.

99  Which of the following inferences can be drawn based on the lines el
“The new technology has increased income by INR 10,000 (US$152) each month becauste]: c{iesss
ined. On an average catch of 18 kgs, it is estimated that the square me; & :;,,,,
important for the survival of the seas
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(B) Square mesh nets are profitable for the farmer and | ; arifi
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(A)  Met with initial scepticism in this important fish lan

(B) Maharashtra’s Fisheries Department has now issued an order proposing g

square mesh nets ' ) L hand in han

(C) Biodiversity conservation of coastal areas and sustainable hvellhoodﬁ cznsgo

(D) Net makers in the region are now being trained t0 stich square mesh 1 [PTO-
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